EXERCISE 4.6 ) G

A. Will you add, subtract or multiply? Circle the correct Option. K

¥

\ > The queen has 2 bags of coins. If there are 9 coins in

each bag, how many coins does the queen have in aj]?

-9+ 2 - 9_2 /2;(“9/-«
-

Rohit bought 2 packets of candles. Each packet has 10 candles.
How many candles does Rohit. have?

10 + 2 10 — 2 Q2 x 10

There are 5 baskets Each basket has 7 oranges.
How many o oranges in all? -

5+ 7 - 7-=5 @

Uncle Samant bought box of 15 apples. Anil and Sarita 7=
ate S_apples. How many apples are left? | “

15+ 5 15 x5
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